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I. Cross out to subtract and write the answer:

(Y2 x 4 = 2 marks)

Il . Write ‘R’ for the objects that roll, ‘S’ for the objects that slide:

(Y2 x 4 = 2 marks)
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1. Use number line to solve: (1 x 2 =2 marks)

L N T T O D L T L . L T

a'01234567891011121314151617181920
9+9= \

b [ [ I I | | I I I I I I | I | | | l I I I

0 1 2 3 4 5 6 7 8 9 10 M 12 13 14 15 16 17 18 19 20
17-8= \

IV. Solve mentally: (%2 x 6 = 3 marks)

a.1l0+7=

b. 18-18 =

C. 6+6=

d. 15+0=

e. 3 more than 4 is

f. 12-2=
V. Solve: (¥2 x 8 = 4 marks)
a 1 8 b 9 C. 1 0 d 1 7
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e 1 5 f 0 g. 7 h 1 3
V1. Match the following: (¥2x 4 = 2 marks)
i
a 6 faces
oo o9
b S
Ay 3 faces
2o
tr =
¢ 1 face
d 2 faces
VI1I. What comes next?: (¥2x 6 = 3 marks)

: %
BLA R AR R BLALA R WA g b
WAL WA

IR SASE SN SIS

c. lunch, dinner, lunch, dinner,
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VIII. Story sums: (1 x 2 =2 marks)

a. Preeta has 18 buttons. She uses 4 of them. How many buttons
are left with her?

Answer: buttons

b. There are 12 hens and 5 ducks in a farm. How many birds in all?

Answer: birds
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